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1. An alloy of solder consists of 
A.	Zinc and Lead 
B.	Copper and Lead
C.	Copper and Tin 
D.	Tin and Lead 	

2.	Evaporation is a process which occurs 
	A.	Throughout the liquid at a fixed temperature.
	B.	Throughout the liquid at any temperature. 
	C.	At the surface of the liquid at a fixed temperature.
	D.	At the surface of the liquid at any given temperature.

3.	Which of the following methods removes temporary hard waters?
	A.	Addition of sodium carbonate.
	B.	Addition of ammonia solution.
	C.	Distillation.
	D.	Ion exchange.

4.	A pure sample of zinc carbonate is prepared in the laboratory by reacting with an aqueous solution of zinc sulphate with an aqueous solution of
	A.	Sodium carbonate.
	B.	Potassium hydrogen carbonate.
	C.	Carbonic acid.
	D.	Calcium carbonate.

5.	An ion is best defined as 
	A.	a charged particle.
	B.	A charged atom or a charged group of atoms.
	C.	An atom or group of atoms that has lost o gained electron(s).
	D.	A cation or anion.

6.	In a Daniel Chemical Cell, the reaction at the positive terminal (electrode) is 
	A.	
	B.	
	C.	
	D.	


7.	Which of the following is a natural polymer?
	A.	Rubber.
	B.	Rayon.
	C.	Nylon.
	D.	Polythene. 

8.	Sodium hydrogen carbonate dissolves in water as show in the equation below 
	
	The pH of the solution is;
A. 1
B. 6
C. 7
D. 9

9.	Which of the following can be used to increase the rate at which fermentation occurs?
	A.	Roasted millet.
	B.	Germinated millet.
	C.	Finely gound millet.
	D.	Paste of millet.

10.	To an aqueous solution of X was added to an aqueous solution of barium nitrate followed by dilute nitric acid, a white precipitate that dissolved in the dilute acid was formed. The anion in X was 
	A.	sulphate ion.
	B.	carbonate ion.
	C.	chloride ion.
	D.	hydrogen sulphate ion. 

11.	Astatine belongs to group VII of the periodic table. Which of the following is true about astatine? It 
	A.	forms an ion with a position charge.
	B.	forms a diatomic molecule.
	C.	is a bleaching agent.
	D.	is used in the treatment of water. 

12.	Calculate the molar heat of neutralization given off if 50cm3 of 1M sulphuric acid was mixed with 50cm3 of 2M sodium hydroxide solution and the temperature of the solution rose by 13oC. specific heat capacity of solution   density of solution is .
	A.	
	B.	
	C.	
	D.	

13.	Which of the following compounds contains the least percentage of sulphur?
	
A. H2S2O7
B. H2SO4
C. SO2
D. H2S

14.	Which of the following is a redox reaction?
	A.	
	B.	
	C.	
	D.	

15.	Carbon monoxide was passed over  of an oxide of iron. The residue remaining weighed  The formula of the oxide is 
	A.	
	B.	
	C.	
	D.	

16.	X, Y and Z are elements in the same short period of the periodic table. The oxide of X is amphoteric, the oxide of Y is basic, and the oxide of Z is acidic. Arranging in order of increasing atomic number, the elements are;
	A.	Z, Y, X
	B.	X, Y, Z
	C.	Y, X, Z
	D.	Y, Z, X
17.	Which of the following compounds undergoes a polymerization reactions?
	A.	
	B.	
	C.	
	D.	

18.	Sodium hydrogen carbonate reacts with dilute sulphuric acid according to the following equation. 
	
	The volume of 0.4M sulphuric acid required to dissolve 4.2g of sodium hydrogen carbonate is
	

A. 

B. 

C. 

D. 

19.	The disadvantage of phosphate in soapless detergents is that they;
	A.	make water hard.
	B.	encourage algae growth.
	C. reduce pH of water.
	D.	are non-blode gradable 

20.	The morality of a solution containing 0.8g of sodium hydroxide in 25cm3 is  
	

A. 

B. 

C. 

D. 
21.	Which one of the following carbonates cannot react to completion with dilute hydrochloric acid?
	A.	Zinc carbonate 
	B.	Copper (II) carbonate 
	C.	Magnesium carbonate 
	D.	Lead (II) carbonate 

22.	Which one of the following statements below is true about the electrolysis of lead (II) nitrate solution using platinum electrodes?
	A.	The resulting solution turns red litmus blue.
	B.	A grey solid is deposited at the cathode.
	C.	Brown fumes are observed at the anode.
	D.	There is effervescence of a colourless gas at the cathode.

23.	When concentrated sulphuric acid is heated with ethanol, ethene is formed because sulphuric acid is strong
	A.	dibasic acid. 
	B.	oxidizing agent.
	C.	dying agent.
	D.	dehydrating agent.

24.	Gas X was passed over heated Copper (II) oxide. A brown substance and water vapour were formed. Gas X could be 
	A.	carbon monoxide.
	B.	ammonia.
	C.	sulphur (IV) oxide. 
	D.	hydrogen chloride.

25.	Sodium thiosulphate reacts with dilute hydrochloric acid according to the following equation.
	
 (
Volume of thiosulphate (cm
3
)
)	A graph of the reciprocal of time  was plotted against volume of thiosulphate that was used.





	The straight line graph shows that, 
	A.	rate is inversely proportional to the volume of thiosulphate	.
	B.	rate is directly proportional to the volume of thiosulphate.
	C.	the rate increases with increase in temperature.
	D.	the rate increases in presence of a catalyst.

26.	Magnesium was burnt in air. When water was added to the cold products, a gas was given off. The gas was
	A.	hydrogen 
	B.	oxygen 
	C.	nitrogen 
	D.	ammonia 

27.	When a hydrocarbon Z was completely burnt in excess oxygen, 200g of carbondioxide and 45g of water were produced. The empirical formula of Z is 
	.
A. 
B. 
C. 
D. 

28.	A beaker containing lime water was left exposed to the atmosphere for some time. The white solid that formed at the bottom of the beaker was.
	A.	Calcium oxide.
	B.	Calcium carbonate.
	C.	Calcium hydroxide.
	D.	Calcium hydrogen carbonate.

29.	The gas collected when chlorine water is exposed t sunlight is 
	A.	chlorine
	B.	hydrogen chloride 
	C.	oxygen 
	D.	hydrogen 



30.	A filter paper was soaked in a saturated solution of sodium sulphate and placed on a slide as shown below. A crystal of copper (II) sulphate was placed onto a filter paper and a current was allowed to flow for some time. Which of the following was observed?


						
						X			Y

									 Crystal of copper (II) sulphate 
	A.	The blue colour movd towards Y.
	B.	The blue colour moved towards X.
	C.	Brown solid was deposited on Y.
	D.	Brown solid was deposited on X.

31.	6.44 of a hydrated salt X was strongly heated and weighed to a constant mass. 2.84g of the anhydrous slat remained. The number of molecules of water crystallization is 
	A.	3.6
	B.	10.0
	C.	0.2
	D.	6.0

32.	50cm3 of a mixture of ammonia and carbondioxide was passed over heated copper (II) oxide, and nitrogen formed occupied 20cm3 under the same condition as a mixture. The percentage of ammonia in the mixture was
	A.	20
	B.	40
	C.	80
	D.	60

33.	Which one of the following will give off hydrogen gas at a fastest rate?
	A.	100cm3 of 0.1M ethanoic acid and zinc powder.
	B.	100cm3 of 0.1M nitric acid and zinc powder.
	C.	100cm3 of 0.1M sulphuric acid and zinc powder.
	D.	100cm3 of 0.1M hydrochloric acid and zinc powder.


34.	Which of the following reactions is used in the manufacture of soap?
	A.	Sodium hydroxide and short chain organic acid.
	B.	Sodium hydroxide and long chain organic acid.
	C.	Calcium hydroxide and short chain organic acid.
	D.	Calcium hydroxide and long chain organic acid.

35.	Which of the following salts dissolves in water to form a solution whose pH is less than 7?
	A.	Ammonium ethanoate.
	B.	Sodium sulphide.
	C.	Calcium nitrate.
	D.	Ammonium chloride.

36.	Which of the following acids renders iron passive?
	A.	Nitric acid.
	B.	Sulphuric acid.
	C.	Hydrochloric acid.
	D.	Phosphoric acid. 

37.	The bleaching action of chlorine is different from that of sulphur (IV)oxide in that chlorine forms
	A.	Chloric (I) acid which donates oxygen to the coloured substance.
	B.	Chloric (I) acid removes oxygen from the coloured substance.
	C.	Substances bleache turn brown on exposure.
	D.	Hydrogen chloride adds hydrogen to the dye. 

38.	Which of the following is not true about metallic bonding? 
	A.	There are many positive ions in the structure.
	B.	The delocalized electrons experience no attraction from the atoms.
	C.	In the structure, the atoms are closely packed.
	D.	The delocalized electrons do not belong to any particular atom.

39.	Compounds which have identical molecular formula but different structural formulae are called
	A.	Allotropes 
	B.	Isotopes 
	C.	Isomers 
	D.	Homologues
Each of the questions 41 to 45 consists of an assertion (statement) on the left hand side and a reason on the right had side.
A.	If both the assertion and reason are true statements and the reason is a correct explanation of the assertion. 

B.	If both the assertion and the reason are true statements but the reason is not a correct explanation of the assertion.

C.	If the assertion is true but the reason is not a correct statement.

D.	If the assertion is not correct but the reason is a correct statement. 

INSTRUCTIONS SUMMARIZED
	
	ASSERTION 
	REASON 

	A
	True 
	True Reason is a correct explanation 

	B
	True 
	True reason is not a correct explanation

	C.
	True 
	Incorrect 

	D.
	Incorrect 
	Correct 



	41.
	Ethane decolourises acidified potassium manganate (VII)

	Because
	It is a saturated hydrocarbon 

	42.
	Duralumin is used in construction of aircrafts 
	because
	It is lighter and resistant to corroson.


	43.
	Oxygen is liberated at the anode when brine is electrolysed with carbon electrode

	because
	hydroxide ions are lower in the electrochemical series than chloride ions 

	44.
	A piece of magnesium because continues to burn in carbondioxide

	because
	magnesium is higher in the reactivity series than carbon.

	45.
	When a piece of phosphorous is lowered in a jar of chlorine, white fumes are observed 
	because
	hydrogen chloride is formed during the reaction.


In each of the questions 46 to 50 one or more of the answers given may be correct. Read each question carefully and then indicate the correct answer according to the following.
A.	if 1, 2 and 3 only are correct.
B.	if 1 and 3 only are correct.
C.	if 2 and 4 only are correct.
D.	If 4 only is correct.

46.	Which of the following decompose(s) on strong heating to form an oxide?
	1.	Sodium hydrogen carbonate.
	2.	Calcium hydrogen carbonate.
	3.	Ammonium hydrogen carbonate.
	4.	Copper (II) carbonate.

47.	Which of the following is/ are property (ies) of concentrated sulphuric acid? It 
	1.	is reduced to sulphur (IV) oxide.
	2.	gives off hydrogen when reacted with magnesium.
	3.	is hygroscopic.
	4.	is deliquescent.

48.	Which of the following gas(es) is/ are given out during fermentation process?
	1.	Hydrogen sulphide.
	2.	Ethane.
	3.	Sulphur (IV) oxide.
	4.	Carbondioxide.

49.	Which of the following usually cause(s) water pollution?
	1.	Sodium carbonate.
	2.	Sodium phosphate.
	3.	Calcium hydrogen carbonate.
	4.	Sewage.

50.	In which of the following equations is sulphur (IV) oxide behaving as a reducing agent?
	1.	
	2.	
	3.	
	4.	 



END
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